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Hot Air Balloon

by Arya Akhavan (January 2013)
Angles for R.I. = 1.760

72 + 13 girdles = BS facets

8-fold, mirror-image symmetry

96 index

LW =1.025 T/W = 0.387 U/W =0.327
P/W =0.571 C/W =0.142

Vol./W? = 0.255
PAVILION CROWN
P 44.00° 03-09-15-21-27-33-39-45- Cut to centerpoint. C1 38.93° 48 Sel girdle width.
91-57-63-68-75-81-87-83 C2 2049° 42.54 Level girdle.
G1 890.00° 10-20-34-62-76-8B Set slone size. C3 29.49° 20-34-62-76 Level girdle.
G2 80.00° 1581 Meet P1. G1 (not a C4 29.49° 2769 Level girdle.
true girdie levell) C5 2949° 1581 Level girdle.
G3 90007 Z7-68 :'::‘a’i:;-ﬁ;ﬂf}“ C6 3413° 1086 Level girdle.
T 00°  12-18-78-84 Meal G1 :
G4 90.00° 42-54 Meet P4, G1 (not a Sl SESNER SRS o ngﬁ:sm'ci
—— “'I“ﬂg'“éﬂ}m C8 25.00° 24-30-66-72 Meet G1, G3, C3, C4
| true girdle Iw[ail} €8 25.00° 38-58 Meet G1, G4, C2, C3
P2 66.50° 10-20-34-52-76-86 Meet P1, G1 (level Ci2 2255 76 '&‘:"m- C7. C8; C8,
girdie) i
PS B673* 1581 Lavel giite. C13 21.93' 1581 Meet C5, C7
P4 BE1E® 27-68 Lovel ghidié. C11 2124 3462 Meet C3, C8, C9
PE  BO4S* 48 Level girdle. C15 16.14° 2472 Meet C8, C11, G12
P7 4300° 96-12-24-36-60-72-84  Meet P1, P2, P3; P1, oo i Moal GO, Cr
P2, P5 [only 4 facels meet) 0.00" Table Meet C9, C10,C11; CF,

C13, C14: C12, C13, C15

| started out trying to make a heart, and ended up with a hot air balloon. This barion may be time-consuming,
but if you eut it in rutile, it looks strikingly like a rainbow hot air balloon. Plus, there's all kinds of “disparsion/fira
jokes you can make. Works in materials from orthoclase to rutile (Rl = 1.52 - 2.62) with no changes.
Suggested length = 12-18 mm
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